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P2 Unit TNathematics
| LdC\.)S and The PARABOULA

1. Find dhe equa*ioq of +hc polﬁ'\" that Mmoves so v
1S cqu(dis*’mn‘\' fTrom the po'\n'\' (O.&) and the lime

Y= -t
Fimd the equa'\'(on of the parabola that has focus
(\.L-\—) and directrix <=3 |

E L]

2. For the parabola == = 20y , fimd :

a) the coordinates of the focus

b) the equation of its axis of symmetry
") tRe equation of the directrix

C\) ifs  focal lemgth

Y - Ffﬁd' the co ordimates of the focus amd the equation
of the directrix of the pPorabola N € =210 .
Sketeh the parabola , Show{r\a these two fTeatures )

> . F\'r\d‘ -H'\.e e.ques.‘\'.\.on of the locus of the point n-\ovina so
‘\.ha‘\’ S GERT equidistant fTrom the pc\f\'i' (3.‘5> and the
line y=-—1\.

& . Fimd the coordinates of +he verfex amd the tocus

" and the equation of the directrix of the parabola
Wit equation
ace"\Oa:—\bd—7= o

1. Find the equa‘\"on of the parabola with focus
(—e,\> and vertex (-—-E.‘H—) .

8. Find e coordinates of the vertex and tocus
anad ‘*he €q06+10r1 Of 'ﬂ-\c directrix for -H-\C pa\—abo\a

Y=+ oy —H=<-W =0
Sketeh the parabola, showing these features
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et P(ac.3> be a pou=T e.qu‘\.d\.s'kar‘\"('

Trom A(s,S) amd B(*""B .
there, AP = BP |

\/(:c-"S)e-l- (':i’ 5>a. - J(ac-x)e'-t- (L:l -l-\)e'
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¥ - b=+ yge--\oj-\-as

= ){e‘,-\- 25 + 1

x® -~ bse +94 = lan’—ik\—

(cc.'-B)E." = \E,(a--e,)

,:r.a';\Ox.~\6‘j—_( = O

\6\3-’&-_(

x2=-10x + 25 = 6y + S2
(=-9)% = (y+e)

Vertex = (5 .‘E_> ] Focal \e_‘:‘ﬂ“:;

2 = 1O

Fccu§<s: E—) Du—ec“\‘r-\'x N=
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\:-cjcus ("'1-,"3)
>(re.c.'h-‘\x <= -8




